Motor Type Flange * Bride Flange *» Bride BSR Shaft = Arbre Frame » Carcasse

Moteur Type

BESVHES! nnn..nnn..nﬂﬂnmnmm-
S6M 100 120 - 9j6 10,2 M3x9 117 | 100
B3M 115 | 95 140 | 10| 3 - - - - - 11j6 | 23 4 8,5 | 12,5 | M4x10 130 | 110 220
71M 130 | 110 | 160 | 10 | 3,5 | 115 | 95 | 140 | 10| 3 14j6 | 30 5 11 16 M5x12 147 | 117 | 241/255*
80M 165 | 130 | 200 | 12 | 3,5 | 130 | 110 | 160 | 10 | 3,5 | 19j6 | 40 6 | 155 21,5 | Msexle | 163 | 137 290
905 165 | 120 | 200 | 12 | 3,5 | 130 | 110 | 160 | 12 | 2,5 | 24j6 | 50 8 20 | 27 MBx19 | 183 | 145 312
90L 165 | 130 | 200 | 12 | 3,5 | 130 | 110 | 160 | 12 | 3,5 | 24j6 | 50 8 20 | 27 MBx19 | 183 | 145 367
100L 215 | 180 | 250 |15 | 4 | 165 | 130 | 200 |12 | 25 | 28j6 | 6O 8 24 31 M10x22 | 205 | 152 3687
112M 215 | 180 | 250 |15 | 4 | 165 | 130 | 200 |12 | 35 | 28j6 | &0 8 24 31 Mi0x22 | 229 | 180 395
1325 265 | 230 (300 15| 4 | 215 |180 (250 |15 | 4 | 38k6 | B0 10 iz | 41 M12x28 | 265 | 193 437
132MJL 265 | 230 (300 |15 4 | 215 | 1BD (250 |15 | 4 | 3Bk6 | 80 10 33 | 4 M12x28 | 265 | 193 501
160M 300 | 250 350 | 19| 5 - - - - - | 42k6 | 10 | 12 37 | 45 | M16x36 | 320 | 224 640
160L 300 | 250 | 350 |19 | 5 - - - - - | 42k6 | 10 | 12 37 | 45 | M16x36 | 320 | 224 640

"Reduced frame # Cancaiie réduil



